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NEW: You can now take the bechina digitally and receive your score immediately. Check the link in this
week’s newsletter or visit our website dafaweek.org/bechinos.

All questions are multiple choice or true/false.

1) The Pasuk says: "%17a noa...aaw=". This is referring to the...

moow>

wIPnRT N2

Ton Hw 1w
WATAT N2

noIon N2
Machlokes C and D

2) The x=»x brings down a s»xw if you’re allowed to sell an old Sefer Torah for a new one.
One of the n1*Ra the 82%a brings down is from a 8npoIn that says 121 nrpw®aa 790 50 PO,
According to the xas»ax 7 of the x9%3, this Xneown is a oK1 that...

A.
B.

You’re allowed to sell an old Sefer Torah for a new one.
You’re not allowed to sell an old Sefer Torah for a new one.

3) The x=m=x answers that there is no 8= from this Xnsen because...

A.
B.
C.

SINW NITDUR

This is a case of awsr ’x (he has no other ninsun available)

From the xovo of this xnsIn you could be wens the o xw the other way, in other
words, 71om paenh RoY RR.

B and C are both correct.
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4) When we roll a Sefer Torah, we are by default putting one Daf over another Daf even
though the one on top doesn’t have any more 7217p than the one underneath. Why doesn’t
this pose a problem?

A.

B.
C.

D.

Because it’s no different than selling an old Sefer Torah for a new one even
though there is no more w7 in the second Sefer Torah over the first one.
Because it’s impossible to do it in any other way.

Because since it’s all one 7°p, it’s not considered like you’re putting one Daf on
top of another.

Machlokes B and C.

5) The X923 brings down a xam»s» from 2" aw= awn J3ms 9K 73m 92 92 721 that you’re not
allowed to sell an old Sefer Torah for a new one. On the other hand, the x=%x brings down
a X mom from »''=s 2w 33 529 that you’re allowed to sell a Sefer Torah in-order to learn
Torah or in-order to get married, and included in that would seem to be that you’re
allowed to sell an old Sefer Torah for a new one. According to the conclusion of the x=m»,
which one of the following statements are correct?

A

B.

Jamy° 929 1S saying two contradictory statements, obviously one of them is not
accurate, and therefore mas» pnwonb X2 R,

There is no contradiction in jamy° "29 since the first X2 was said in the name of
a""aw= and the second X279 was said in the name of %', and therefore we could
conclude that 2"aw= holds that you’re not allowed to sell an old Sefer Torah for a
new one and %"= holds that you could sell an old Sefer Torah for a new one.

. a"awn definitely holds that you can’t sell an old Sefer Torah for a new one, but as

far as »''1 goes, it’s not so clear that he holds that you could sell an old Sefer
Torah for a new one, it could be that he really holds like »"=aw= that you can’t sell
an old Sefer Torah for a new one.

. »n""1 definitely holds that you could sell an old Sefer Torah for a new one, but as

far as »'"'awn goes, it’s not so clear that he holds that you can’t sell an old Sefer
Torah for a new one, it could be that he really holds like »'9 that you could sell
an old Sefer Torah for a new one.

You can’t really prove what anyone holds, and it could be that »"aw= really holds
that you could sell an old Sefer Torah for a new one contrary to what it sounds
like from his x9%°», and »''9 really holds that you can’t sell an old Sefer Torah
for a new one contrary to what it sounds like from his 829,

6) The Mishna says: j5an%2 321 As per Ra-...

A.
B.
C.
D.

This 2% is only referring to a case of 1 n¥m 102,

This m2% is only referring to a case of 2 n3m 1as.

This mo9m is referring to both, 952 and yas.

None of the above. (This mo%m is referring to a third case)
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7) If 32381 visits a city, and the ap7x "8a» of that city levy a apTx tax...
A. He doesn’t have to give it since he’s not from that city.

B.

He has to give it to the mp7x "x23 of that city to hold for him so they shouldn’t be
T him, but when he leaves the city they give it back to him, and he could do
what he wants with it.

He has to give it to the mp7x "x23 of that city to hold for him so they shouldn’t be
Tenr him, but when he leaves the city they give it back to him, and he has to give
it to the poor people of his city.

He has to give it to the np7x s8a» of that city to distribute to the poor, and when
he leaves the city, he does not get it back.

8) Which one of the following statements best describes =987 529 nuw.

A

You can’t sell a no1577 n°a even from one 712%x to another =12 unless the second
=122 IS the same size as the first =129, because if the second =129 is smaller than
the first m12°% you run into the problem of \nw17p2 IR P79,

You could sell a ne1o:r no2 from one =12%x to another =12%x even if the second =12%x
is smaller than the first m12s2 as long as it’s sold on condition that you could buy
it back at any time, unlike a case where the second =212%x is the same size as the
first =m1avx, where than you could sell it even as a 22w "2n» without any
conditions.

. You’re even allowed to sell a no1277 n°2 to a 7°m° as long as it’s sold on condition

that you could buy it back at any time, unlike a case where you sold it to another
=12°2, where than you could sell it as a a2 =22%» without any conditions even if
the second =12%x is smaller than the first =12sx.

. You’re not allowed to sell a no12;7 n°3 to a 7°m° under any circumstance, but to

another =122 you are allowed to sell it even if the second 21253 is smaller than the
first =125, but regardless of the size of the second =12, you always have to sell it
on condition that you could buy it back at any time, even if the second =123 is the
same size as the first 212,

You’re not allowed to sell a no1277 N2 to anyone and even with the condition of
being able to buy it back.

9) The 8920 of 991 N7 2w 2772 is brought down in the xa%a...

A.

B.

By 9°8» 527 as a xswp on the 3121 who say that a m12°% is allowed to sell a neasm o2
to a om.

By 9°8» 537 as a 81 to himself who says that a 212°% is not allowed to sell a ns2
noio7 to a T

By the y129 as a ;%87 to themselves who say that if a m12%x would not be able to sell
a neaon o2 to a om, then they wouldn’t be able to sell it to a smaller m1asx either.
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10)773m " holds =% nva92 78 73 AND 20w 29 nan by nean.
A. True
B. False
C. Machlokes (Two nuaw in the x2%s)

TEST INSTRUCTIONS
- Deadline for this quiz is Monday, April 8th, 2019.

- We will only grade and offer incentives for bechinos taken with a closed gemara. We encourage those who prefer to continue
taking the test with an open gemara. The answer key will be published after the deadline.

- Send in only the one-page answer sheet. Email to testS@dafaweek.org or fax to 973-860-1661. JPEGS accepted.
- We try to mark nmona within a week or two of receipt.
- The financial incentive is $5 for closed-gemara with a score of 90 or greater.

- Currently we issue certificates to Z. Bermans, Weinrebs Judaica in Teaneck and Tuvia's in Monsey. Z. Bermans stores do not
honor online certificates.

- Itis our goal to bl’n send financial incentives once every month or two.

- The incentives are specifically offered to increase learning & 7717 among @ na *»pa. We also welcome students or yungerleit
who participate in a s91an yywn 77, Call us at 718.376.9663 with any questions.
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ANSWER KEY FOR DAF 27 - SEND BACK ONLY THIS PAGE

Full Name

Email Address (required)

Was this your 1st ever 1°n2?

OO NDUHREWNERE

Y
o

Comments:

Let’s plan to be 73119 the nag» focusing on a simple 7711 of just the 8o w1 X9pw inside:
Were you able to make a few minutes every day for an immediate 5911 of the portion just learned?

Were you able to make time on naw or Sunday to do a m= of the n7?
Were you able to make time on naw or Sunday to do a 7= of the last 3 a'97?






